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Newsletter for week ending 29 March 2015



North - South



East - West

Mon

Merryl Howell & Ralph Lurie

Pat Besley & Irene Purcell**
Tue
Day
Betty & Tom Blom**


Brenda Glyn & Lynne Dorgan

Night
Janet Reynolds & Peter Cork**
Wing Law & Luke McNamara
Wed

Mike Macrow & Chris Lamb

Molly Goethals & Nola White
Fri

Sally Donnan & Angela George
Ronella Stuart & Heather Smith**
Sat

Sandra Mansell & Rita Browne
Hand of the week: Saturday 28 Mar Board 04 All vul Dealer W
When 3NT is an option – choose it
West, with 17 HCP and a balanced hand, opens 1NT. North passes. East, with 8 HCP and a 6-card club suit, would normally bid 3(. Is this the correct bid?
Technically it is – asking West whether they want to be in 5( - but East’s hand isn’t sufficiently distributional to warrant being in 5( - therefore 3NT is a better bid. 
Generally speaking, when there is a choice between being in game in a minor or in 3NT, although the two contracts score the same 3NT is the better bid as you are more likely to make an overtrick in 3NT thereby scoring better than anyone in 5(.
The play of the cards is important. Win the spade lead, take 6 club tricks discarding a spade and two hearts, finesse the Q( and you will make your contract. If the defence mess it up you might even make an overtrick!
Subscriptions - may be paid to MCC Kew Sports Club by direct credit, credit card, cash or cheque. If you directly to MCC Kew please show me your receipt so that we may record that you have paid. The other alternative is to pay at the bridge club and we will forward on to MCC Kew. Please make out cheques to MCC Kew Sports Club.
The next Red Point events will be Tuesday night 7th April at 7.30 pm, or Saturday 25th April at 1.00 pm.
Sandra and Ian
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